Question 1: Which of the following economic concept is
categorized on the basis of Current Account or Capital

Account or both ? fAFfaf@a & & forg 3nfe sraurom
I HIC HIS3C TT hiUCel IPI3C TT &Il o IMUR T
qaffepet fomam arar g2

a) Balance of payment 3]daTdTsT FIT:I’T*IFT

b) Value of the foodgrain stock of a country fRaY ¢2r &
e gleT 3R T Hed

¢) Gross National Product (GNP) Hehel ISEIT 3cUTG, (GNP)
d) Gross National Income (GNI) Fehel ITSEI 33T (GNI)

¢) Total collection of Direct Taxes in a year Ueh a¥ & JcJaT
R T Fel TG

Question 2: Which of the following statements about the
Growth of Indian Economy in 2009-10 or the part of it, is

correct ? 2009-10 & R HFcaEAT T gefer AT 5qH
19T & IR A AEATATET # § et a1 hY=T TET 87

a) Economy grew by 5.8 percent during the period of

January-March 2009. STTaT-HTT 2009 T 31afey 7
ITTEAT 5.8 YU T |

b) India’s growth estimates prepared by the Reserve Bank of
India (RBI) say that the growth would be in the band of 8:5 to

10.0 percent during the year 2009-10. R Rera s+
(RBI) G@RT IR fehT 91T $TRl o Tdehre 31T ATT hed & foh
I S I 2009-10 F GNTT 8: 5 F 10.0 FfAATT F A5 7
graf

c¢) The most promising growth of about 6 to 7.5% would be in
the agriculture sector which contribute around 60-70 percent

in the total GDP of India. SI3T373T 6 T 7.5% T g4 ¥
3TTRITSTTeh & & i &1 H g1 S 7R T el SR &
ST 60-70 ST T 9IS Sam B

d) Service sector which is a stronghold of the economy is also
likely to grow at the rate of 13% during the year. TaT &1 Sit
3TCITEUT FT Teh 316 &, TN o GIRTeT 13% T &L F T6a1 ST
HHTGAT ¢ |

e) All statements are correct. THT T TEI & |

Ouestion 3: The GDP growth rate in the fiscal 2002 was
oreaT 3: Fare ¥ 2002 3 SIS #r gefer e o

a)4% b)4.5% c¢)5% d)54% e)6.33%

Question 4: Who among the following doesn’t have
nomination facility?faeA T & 7 & forereh arg ATHTR i

a) Body corporate a3 HraRke

b) Karta of Hindu undivided family (HUF) fgg 3rfasmiore
RaR (TIIU®) & el

¢) Holder of power of attorney UTaR 3iTth 3T€i=iT &hT UTh

d) Non-individuals including society TSl Afgd IR-cATFd
e) All of the above ITRTF T

Question 5: Which of the following is an Intangible Asset?
RorrTTaITRer 31 & aher &7 3 HaRr &7

a) Land 3{\&!’ b) BuildingdsT  ¢) Machinery #2fleRY
d) Patents 9¢€ ) All of the above IURTF THT

Question 6: Which of the following decides cost of
production?

=T 7 & a7 AT 3cUTe 6T AT dF AT 87
a)Land [/ b)Labor 3H  c¢) Capital TTSTEIT&AT

d) Taxation ShTeTeT e) All of the above 3URTeFT THT
Question 7: What are the effects of rupee depreciation?

U o HoAGIH & T T 67

a) Capital in flow slows down 9dTg H; qﬁr T g ST &
b) Trade deficit decreases SITIX ©HICT shH REIGIE

c) Forex reserves increase faeeh 'fI,B\T EAEiey dedr %’

d) Spending on discretionary goods decrease TadenTelleT
TEGIHT R T & AT

¢) Both 2 and 3 2 31X 3 g1t

Question 8: The process of curing in ation by reducing
money supply is called

A T 3Tt Y A T TS 7 SolloT hT TTshaT 1 gl
ST &

a) Cost-push inflation W—‘f_[?f Wﬁ

b) Down-pull inflation H}ﬂ?@ﬁ' I =i G

¢) Disin ation TITST ST ARTHY  d) Reflation el

¢) Stagflation TEITFIRIT

Question 9: Devaluation of currency leads to

SR 9: FGT T HTHEA BTl §

a) Expansion of export trade foaTa IR &t faear

b) Contraction of import trade 3TITd AT hT HEI?_T-!H'
¢) Expansion of import substitution 3TaTd €Tt &7
[CITIRS

d) Only 2 and 3 &hael 2 3R 3

e) All of the above IURTFT T

Question 10: The bond in which future dates are fixed for
sell & purchase are known as a€”

92T 10: 98 dles foras AfasT i airar & sae 3R
TIge o ToIT o fohaT SITAT §, 4€7 & &9 H ST AT & |
a) option fdsheq b) future bond AT &1 TET=T
¢) future trade HTAT SITIRd) exchange TAfIHT

¢) None of these Eﬂ?}l a q’ﬂé er

Question 11: The Minister for Heavy Industries and Public
Enterprises in the revamped Union Council of Ministers

1Si i, Wm*mmw
ATt Toleh 3YSha HAT, ..o gl

a) Shri Ramvilas Paswan b) Shri Anant Kumar
¢) Shri J P Nadda d) Shri Anant Geete
e) Shri Kalraj Mishra




Question 12: The theme of the 102nd edition of the Indian
Science Congress 2015 recently held in Mumbai was gTeT &1

H Hg H IRANTSHT AR faaTed Hide 2015 F 102
HERLOT T fao T

a) Power of science is all around us) Ta=iTeT T AfeFd gAR
IART ARG

b) Science and Technology for Sustainable Development

Had faera & forw faame 3R wigafadr

c) Recreating interest in Basic science CIRED QTI?’F A3 A
O & FTretr

d) Science and Technology for nation building IS¢ fATOT &

e) Science and Technology for Human Development HleTd

faere & farw fa=iret 3R sieanfarhr

Question 13: The ‘Vibrant Gujarat’ summit 2015 was
recently heldin...............

‘AT ORI TR TFATAT 2015 FTA G H .o

H 3mfera o aram a7

a) Gandhinagar b) Ahmedabad c¢) Jamnagar

d) Vadodara ¢) Porbandar

Question 14: The population of India in 2011 has been
estimated to be 1.21 billion, comprising 624 million male and

a) 647 million females
¢) 587 million females
e) 627 million females
Question 15: Which of the following is a tool for temporary
cash management used by the Central/State governments to

tide over temporary mismatches 2T & & T et AT
EURIT JaereT & folT hg; / T TRHRT GaRT 39T fohT
SATeT aTel HEATAT AHAT TeTtleT ol Ueh 3TIT 62

a) Ways and Means Advances (WMA)

b) Inflation Indexed Bonds (IIB)

c¢) Open Market Operations (OMO)

d) Marginal Liquidity Facility (MLF)

e) Liquidity Adjustment Facility (LAF)

Question 16: The chief regulator of the ‘commodity futures’
market in Indiais.................coeee AR H: FAITSET

b) 617 million females
d) 657 million females

a) General Insurance Corporation of India

b) Forward Markets Commission (FMC)

¢) Reserve Bank of India

d) Securities and Exchange Board of India

e) Clearing Corporation of India

Question 17: As per 2011 Census the child sex ratio in the

(0-6) group stood at 2011 ST STTITTTAT & AR (0-6) THE
et foiaT 3tegard ar

a) 969 female against 1000 male

b) 939 female against 1000 male

¢) 919 female against 1000 male
d) 959 female against 1000 male

e) 929 female against 1000 male

Question 18: Inflation refers to a fall in the value of money.
Which of the following is the key measure of inflation in
India?

FAGTEHIT FGT & Hed H RRIC H1 gifar ¢l efafad
A Q T AT R A HERERIT FT 97T 3UT &2

a) Consumer Price Index 3YHIFAT Hed H@W

b) Wholesale Price Index Ut Hed W

¢) Personal Consumption Expenditures Price Index eafecTaTe
3YSNT T FHed Felhish

d) GDP Deflator e) All of the above 3URTeFT THT
Question 19: Who among the following is the Union

Minister for Tribal Affairs? fRFITolT@d & & hieT 3TTearET

HATHA & Hard 7T 82
a) Jual Oram b) Narendra Singh Tomar
¢) Radha Mohan Singh  d) Kalraj Mishra

e) Ananth Kumar
Question 20: Which of the following can issue commercial
paper for raising short term funds?

9% 20: TAEATATEd & & Flet ATE T %3 et o fow
aTforfSaeh o SRy & HehlT 87

a) Corporates aﬁnﬁzﬂ b) Primary dealers ITIfAe 3ok
¢) All-India Financial Institutions 31T &er ¥R T
HELT

d) Both 2 and 32 3iR 3 @At e) All of the above 3URIard THY

1. A
2. A
3. B
4. E
5. D
6. E
7. A
8. C
9. E
10. A
11. D
12. E
13. A
14. C
15. A
16. B
17. C
18. A
19. A
20. E



